
EE 230 —  HW 5.6           Name_________________________________________

For the pnp transistor circuit shown, calculate iC and vCE for VBB = 9.5 V, 
7 V, and 3 V.  For the transistor, βF  = 75. 
 

VBB = 9.5 V: iC = ____________________vCE = ____________________ 

VBB = 7V: iC = ____________________vCE = ____________________

VBB = 3 V: iC = ____________________vCE = ____________________

 

Put your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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